Week 22

The last Torchon lace in this series of patters, one of my mother's. | had to think about the notes
she made on the pattern. The symbols were not the same in the margin as within the pattern.
Finally I got it. The triangles along the edge should be made in half stitch and the diamonds in cloth
stitch with a raised dot.

For this insertion you need 22 pairs of bobbins with Ritter silk 100/3 or similar.
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The edges are made with a straight edge and 1 pair in whole stitch.

On or rather under the diamonds in cloth stitch the raised dot is made. After the longest row of the
diamond the 3 centre pairs of the hanging pairs are needed for the dot. First place a pin between
the bobbins of the 2 outer pairs of these three pairs. Than the centre pair of these 3 pairs is laid
upwards.
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The dot is made with the remaning 2 pairs. Make the dot at least until the last horizontal line of the
diamond. Twist the pairs and twist them also around a pin as shown in the drawing below. Then
tension not only the 2 inside bobbins as we normally do after finishing a dot to prevent deformation
of the dot, but also the 2 outer bobbins because they help the dot to roll around the pin. Perhaps
the dot will deform a little bit, but that does not matter as it will be on the inside of the raised to dot.

Place two pins under the dot and lay the centre pair over the dot between the 2 pairs of the dot.
This pair will hold the dot down and in place.

We wish you succes with this adventure.



